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Q5. 

 

 

A.  B.  

C.  D.  

 

Q6. ________ is the synonym of "SCRUPULOUS". 
 

A. Fraudulent B. Careful 

C. Mischievous D. Playful 

 

Q7. ___________ is the antonym of "HINDER". 
 

A. Trouble B. Help 

C. Restrict D. Exhibit 

 

Q8. Identify the meaning of the idiom. 
 
 
"Hit the sack." 

 

A. Stumble over something. B. Try to bring out hidden information. 

C. Empty out packed contents. D. Go to bed. 

 

Q9. The sentence given below may contain one or more mistakes. Identify the correct sentence. 
 
 
"The city too crowded with building and vehicle everywhere." 

 

A. The city too crowded with buildings and 

vehicles everywhere. 

B. The city is too crowded with building and 

vehicle everywhere. 

C. The city is too crowded with buildings and 

vehicles everywhere. 

D. The city is too crowding with buildings and 

vehicles everywhere. 
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Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
 
The ship _____ (sink) to the bottom of the sea. 

 

A. sank B. sink 

C. sinking D. sunken 

 

Q11. The Indian Prime Minister who made a historic bus trip to Pakistan for signing the 
bilateral 'Lahore Peace Declaration' was _________. 

 

A. Manmohan Singh B. I.K. Gujral 

C. Atal Bihari Vajpayee D. V.P. Singh 

Q11. _______ �?+�I0 'ल?9L1 >??�?  K?#?+}' +1 9}??�1 �10O �O  �ल� +?��}??0 �ी �� ��?9?�?� -? 0?}? �10O =?लO .?1?I0 
�/?0 /?}I -O। 

 

A. .0.K90 स ?9 B. ��. �O . �I�0?ल 

C. 
�ल -?9?0I =?�+O/I D. =I. +I. स ?9 
 

Q12. Presently (November 2019), who is the coach of Indian Men’s National Field Hockey 
Team? 

 

A. Dhanraj Pillai B. Dilip Tirkey 

C. Graham Reid D. Darren Smith 

Q12. =?त/?0 /े䜂 (0=?-1 2019), .?1?I0 +Jy? 1?�रI0 ,ील㉍! 9Q�ी �I/ �O  �K� �L0 9ै䠂? 
 

A. /00?� ++ल㉍ल� B. /?लI+ /��ी 

C. ्䵇?9. 0I) D. )P0O0 }/.- 

 

Q13. Which one of the Indian states given below does NOT have a border with Pakistan? 
 

A. Gujarat B. Madhya Pradesh 

C. Rajasthan D. Punjab 
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Q13. �0म⹍0�ल�?? .?1?I0 1?जᱍ0K /े䜂 ?O ��? 1?जᱍ0 �ी ?I/? +?��}??0 �ी ?I/? �O  ??- ?�I 9ु� 09ी䀂 9P? 
 

A. �I�0?, B. .o/ �?O> 

C. 0?�/-?0 D. +?�?? 
 

Q14. ___________ is the ex-officio Chairman of the Rajya Sabha. 
 

A. Vice President B. Prime Minister 

C. Home Minister D. Parliamentary affairs Minister 

Q14. ___________ 1?जᱍ0?.? �O  +.O0 
o0� 9ै䠂। 
 

A. �+ 0?�र+-, B. �/?0.?्䵔I 

C. �9ृ.?्䵔I D.  ? ?I/ .?.लो䬂 �O  .?्䵔I 
 

Q15. Thanesar is the old name of ______. 
 

A. Hisar B. Kurukshetra 

C. Karnal D. Palwal 

Q15. -?0O?1______ �? +J1?0? 0?/ 9P। 
 

A. /9 ?0 B. �I रぁ�O्䵔 

C. �00?ल D. +ल=ल 

 

Q16. Who was the first Chief Minister of Haryana? 
 

A. Shri Chaudhary Devi Lal B. Shri Arjun Singh Gurjar 

C. Shri Bhagwat Dayal Sharma D. Sir Chotu Ram 

Q16. 9र10?#? �O  �-/ /J_0/?}I �L0 -O? 
 

A. ्䵦I �L/0I ?O=I ल?ल B. ्䵦I 
�II0 स ?9 �I�I0 

C. ्䵦I -?�=, ?/?ल >.?I D.  0 �K�ू 0?. 
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Q17. First Haryana Legislative elections were held in which year? 
 

A. 1966 B. 1967 

C. 1968 D. 1970 

Q17. 9र10?#? /े䜂 �-/ �=/?0?.? �J0?= ��? =?त 9ु� -?? 
 

A. 1966 B. 1967 

C. 1968 D. 1970 

 

Q18
. 

Match the following and mark the correct option. 

 

A. A-II, B-III, C-I B. A-III, B-I, C-II 

C. A-I, B-II, C-III D. A-I, B-III, C-II 

Q18
. 

�0म⹍0�ल�?? �? �/ल?0 �1े䜂 �1 ?9I �=�ल㉍+ +1 �0>?0 ल�?�?। 

 

A. A-II, B-III, C-I B. A-III, B-I, C-II 

C. A-I, B-II, C-III D. A-I, B-III, C-II 

 

Q19. As on 14-November-2019, who amongst the following is the Minister for Excise and 
Taxation in Haryana cabinet? 

 

A. Shri Manohar Lal Khattar B. Shri Narbir Singh 

C. Shri Manish Kumar Grover D. Shri Dushyant Chautala 
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Q19. 14-0=?-1 -2019 ?�, 9र10?#? �P �-0O� /े䜂 �-�?1I �1 �1?/?0 /?}I �0म⹍0�ल�?? /े䜂 ?O �L0 9ै䠂? 
 

A. ्䵦I .0K90 ल?ल �टὍ�0 B. ्䵦I 00?I0 स ?9 

C. ्䵦I .0I? �I .?0 ्䵇K=0 D. ्䵦I ?I�/?, �L�?ल? 
 

Q20. Who will coach the Haryana Steelers in the Pro Kabbadi League in 2019? 
 

A. Rakesh Kumar B. Anup Kumar 

C. Sanjeev Kumar Baliyan D. Ram Mehar Singh 

Q20. �K-�-!M!I लI� 2019 /े䜂 9र10?#? }�Iल?त �? �K� �L0 9K�?? 
 

A. 0?�O > �I .?0 B. 
0+ू �I .?0 

C.  ?�I= �I .?0 ??सल/?? D. 0?. .O90 स ?9 
 

Q21. Haryana Government has initiated the project of implementing _______ at the defunct 
thermal power plant in Faridabad. 

 

A. Ground mounted solar PV power plant B. A world-class integrated sports university 

C. A state-university for technology and sciences D. A railway coach-building factory 

Q21. 9र10?#? ?1�?1 0O ,1I.?-?. �O  �0��ि0 -/तल +?=1 +ल??� /े䜂, _______ �O  �?0?तm=00 �10O �ी +र10K�0? >Jz �ी 9P। 
 

A. ्䵇?�? ) .?�? �O)  Kल0 +I=I +?=0 +ल??� B. �� +=�= /,0I/ ��I�ृ, �Oल +=�=+=द♍/?ल/ 

C. �Lद♍/K���I �0 +=_?0 �O  सल� �� �??Oस>�-+=�=+=द♍/?ल/ D. 0Oल=O �K� ?0?0O �I ,P ሴ㒚रI 
 

Q22. A Mega Food Park is being set up at ____ under Ministry of Food Processing scheme of 
Mega Food Parks. 

 

A. Alampur, Faridabad B. Chiri, Rohtak 

C. Siwan, Kaithal D. Barhi, Sonipat 

Q22. ??o �??}�1# /?}?ल0 �ी /O�? _K ! +?}?त 0K�0? �O  ?9?, _________ /े䜂 �� /O�? _K ! +?�त  }-?�+? ��0? �? 19? 9P। 
 

A. �ल.+I0, ,0I????? B. ��0I, 0K9,� 

C. स =?0, �P -ल D. ?09I,  K0I+, 
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Q23. The Haryana State government is heading a unique _____ programme to achieve 80-
percent grade-level competence amongst Government school students by the end of 2019. 

 

A. Shikshan Vikas B. Sarva Sikhsha Abhiyaan 

C. Saksham Ghoshna D. Rashtriya Madhyamik Shiksha Abhiyan 

Q23. 9र10?#? 1?जᱍ0 ?�?त1, 2019 �ी ?/?�ि ?� ?1�?1I }�K ल �O  �?}K /े䜂, 80 ��?>? ्䵦O#I-}?1 �ी 0K_0?? �?ि �10O �O  �ल�, �� 

�=�>्䵖_____�?0ति/ �ी 
�J=?� �1 19I 9P। 
 

A. स>�+ +=�?  B.  =I स>�? 
स-/?0 

C.  �.  K?+? D. 0?�रI/ .?o/स.� स>�? 
स-/?0 

 

Q24. US-based Cisco launched ____________ in Gurgaon district of Haryana. 
 

A. Centre for management and automation B. Global Server Lab 

C. Data Analytics Lab D. Global Cyber Range Lab 

Q24. 
/Oर1�? �}-? �?}�K (CISCO) 0O 9र10?#? �O  �J=�??= ��लO /े䜂 _____________ �? >J.?1?. ��0?। 
 

A. �??/0 �0 /=�?ल0 �े䜂 ्䵖 B. गᝍलK?ल  =I0 लP? 

C. )O�? �0?सल/�ሴ㒚  लP? D. गᝍलK?ल  ?�?0 0े䜂� लP? 
 

Q25. Which weekly magazine was launched by Pt. Neki Ram Sharma? 
 

A. Sandesh B. Patrika 

C. Samvad D. Samvedna 

Q25. +?�!? 0O�ी 1?/ ??1? ��? ??ि?�9� +�}�? �? >J.?1?. ��0? �0? -?? 
 

A.  ??O> B. +-्䵔�? 

C.  ?=?? D.  ?=O?0? 
 

Q26. Surender Sharma is a __________. 
 

A. painter B. folk singer 

C. wrestler D. poet and humorist 
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Q26. ?J1े䜂� >/?त �� __________ 9P। 
 

A. ��्䵔�?0 B. लK� �?/� 

C. +9ल=?0 D. �+= �0 /??Kसल/? 
 

Q27. Majhimnikay and Divyavdan literature carry information regarding Haryana. They are 
________ literature. 

 

A. Haryanavi B. Bengali 

C. Jain D. Buddhist 

Q27. /?�ि/�0�?0 �1 �.}0.?0 ??�9त⑍0 /े䜂 9र10?#? ?O ??-?�/? �?0�?1I 9P। =O ________ ??�9त⑍0 9ै䠂। 
 

A. 990/?+=I B. ??�?लI 

C. �P0 D. ?Lद♍/ 

 

Q28. This author is a successful medical practitioner having done his MBBS from the 
Government Medical College in Rohtak in 1970. However, today, he has many 
publications in Hindi, Punjabi, Haryanavi and English. He has been awarded the Pandit 
Lakhmichand Award by the Haryana Sahitya Akademi for the year 2007. Who is the 
writer? 

 

A. Shrikrishna Gotan Manjar B. Jaimini Haryanavi 

C. Nar Singh D. Shyam Sakha Shyam 

Q28. 09 लO?� 1970 /े䜂 1K9?� �O  ?1�?1I /O�!�ल �QलO� ?O MBBS (�/-I-I�?) �10O =?लO �� ?,ल ����त⑍?? }0=??0I 9ै䠂। 
9?ल??��, ��, �0�O  +?? �9?.I, +?�?-I, 9र10?#=I �1 
?्䵇O�I /े䜂 �� ��?>0 9ै䠂। �m9े䜂 =?त 2007 �O  �ल� 9र10?#? ??�9त⑍0 
�?./I 
??1? +?�!? ल?/I�?. +J1}�?1 ?O ?म⹍/?�0? ��0? �0?। �0�? 0?/ }0? 9P? 

 

A. ्䵦I�ृ�+ �K,0 .??�0 B. �Pस.0I 990/?+=I 

C. 00 स ?9 D. �/?.  �? �/?. 

 

Q29. Which of the following is the largest seasonal river of Haryana? 
 

A. Yamuna B. Dohan 

C. Indori D. Ghaggar 
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Q29. �0/े䜂 ?O �L0 ?I 0.I 9र10?#? �ी ?-?O -=I /L?/I 0.I 9P? 
 

A. /.I0? B. ?K90 

C. �m?K0I D.  गᝍ�0 
 

Q30. Which part of Haryana is covered by Shivalik Hills? 
 

A. North Western B. North Eastern 

C. South Eastern D. South Western 

Q30. 9र10?#? �? �L0 ?? �9}?? �>=?�ल� �ी +9?�=0K ?O "?�? 9P? 
 

A. �्䵈0 +}��.I B. �्䵈0 +=ूी 

C. ?्䵌�+ +=ूी D. ?्䵌�+ +}��.I 
 

Q31. National Dairy Research Institute in Haryana is situated in _________. 
 

A. Karnal B. Faridabad 

C. Rewari D. Sirsa 

Q31. 9र10?#? �? 1?�रI0 .J_/ 
0J??/?0 ??}-?0 _________ /े䜂 �}-? 9P। 
 

A. �00?ल B. ,0I????? 

C. 0O=?डI D. स 0 ? 
 

Q32. River Yamuna flows on _________ boundary of Haryana. 
 

A. Eastern B. Western 

C. Northern D. Southern 

Q32. 0/J0? 0.I 9र10?#? �ी _________ ?I/? +1 -9?I 9P। 
 

A. +=ूी B. +}��.I 

C. �्䵈0I D. ?्䵌�+I 
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Q33. Match the following and mark the correct option. 

 
 

A. A-II, B-I, C-III, D-IV B. A-III, B-IV, C-I, D-II 

C. A-I, B-IV, C-II, D- III D. A-IV, B-III, C-I, D-II 

Q33
. 

�0म⹍0�ल�?? �? �/ल?0 �1े䜂 �1 ?9I �=�ल㉍+ �K ���ि? �1े䜂। 

 

A. A-II, B-I, C-III, D-IV B. A-III, B-IV, C-I, D-II 

C. A-I, B-IV, C-II, D- III D. A-IV, B-III, C-I, D-II 

 

Q34. Who among the following appoints the Chief Justice of Supreme Court? 
 

A. Vice President of India B. President of India 

C. Prime Minister of India D. Home Minister of India 

Q34. �0म⹍0�ल�?? /े䜂 ?O �L0, ?=Kचᩍ� m0?0?ल0 �O  /J_0 m0?0?/I> �ी �00J�ि �1?O 9ै䠂? 
 

A. -?0, �O  �+0?�र+-, B. -?0, �O  0?�र+-, 

C. -?0, �O  �/?0.?्䵔I D. -?0, �O  �9ृ.?्䵔I 
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Q35. The female literacy percentage in Haryana, as per 2011 census is: 
 

A. 85% B. 65.94% 

C. 74.45% D. 69.85% 

Q35. 2011 �ी �0�#0? �O  
0J??1, 9र10?#? /े䜂 /�9ल? ??�1?? ��?>? 9P: 
 

A. 85% B. 65.94% 

C. 74.45% D. 69.85% 

 

Q36. Which device is called the pointing device? 
 

A. Plotter B. PROM 

C. Mouse D. Scanner 

Q36. ��? �+�1# �K +Q�?��?� �!=?�? �9? �??? 9P? 
 

A. +लI�0 B. +I�0��. (PROM) 

C. .?�  D. /�P 00 
 

Q37. Which is the biggest industrial city of Haryana and North India? 
 

A. Rewari B. Gurgaon 

C. Faridabad D. Rohtak 

Q37. 9र10?#? �1 �m1 .?1? �? ?-?O -=? �oK��� >91 �L0 ?? 9P? 
 

A. 0O=?डI B. �Iड�??= 

C. ,0I????? D. 0K9,� 

 

Q38. What is produced in 'GoodYear' company of Ballabgarh district of Haryana? 
 

A. Ballons B. Tyres 

C. Cars D. Cycles 
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Q38. 9र10?#? �O  -ल㉍ल.�? ��लO �ी '�J! �01' �? +0I /े䜂 ��? �I� �? �त⑍+?.0 ��0? �??? 9P? 
 

A. ?Pलू0 B. �?/0 

C. �?0 D.  ?���ल 

 

Q39. Which device is used to plot graphs on paper and is also an output device? 
 

A. Graphic Tables B. Plotters 

C. Projectors D. Visual Display Unit 

Q39. �?�� +1 1O???�0 �10O �O  �ल� ��? �+�1# �? �+0K� ��0? �??? 9P �1 09 ���+J� �!=?�? .I 9P? 
 

A. ्䵇?�,� �O?लो䬂 �? B. +लI�0ो䬂 �? 

C. �K�Oሴ㒚�0ो䬂 �? D. +=शू
ल ))/+लO /ू-0� �? 
 

Q40. Pick the odd one out: 
 
Flower, Seed, Fruit, Root 

 

A. Seed B. Root 

C. Flower D. Fruit 

Q40. �.m0 �? �00 �1े䜂: 
 

,K ल, -I�, ,ल, �= 
 

A. ?I� B. �ड 

C. ,ूल D. ,ल 

 

Q41. Find the analogy. 
 
AD : FI :: MP : ? 

 

A. QR B. VY 

C. WS D. RQ 
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Q41. ?/?0?? �? +?? ल�?�?। 
AD: FI :: MP : ? 

 

A. QR B. VY 

C. WS D. RQ 

 

Q42. Find the missing number. 
 
12, 15, 13, 16, 14, ? 

 

A. 12 B. 17 

C. 13 D. 15 

Q42. 
0J+�}-? ??_0? _?? �1े䜂। 
 
12, 15, 13, 16, 14, ? 

 

A. 12 B. 17 

C. 13 D. 15 

 

Q43. In certain language, if Pen is coded as Bike, Bike is coded as Engine, Engine is coded as 
water and water is coded as Pen. In the coded language, then what is used to write on a 
paper? 

 

A. Pen B. Water 

C. Bike D. Engine 

Q43. 0�. �� �K! .??? /े䜂, �ल/ �K -?��, -?�� �K �?�0, �?�0 �K +?0I �1 +?0I �K �ल/ �ल?? �??? 9P ?K �? .??? /े䜂 �� �?�= 

+1 �ल?0O �O  �ल� ��?�? �+0K� ��0? �??? 9P? 
 

A. �ल. B. +?0I 

C. ??�� D. �?�0 
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Q44. Find the value of X in the following equation: 

 
 

A. 31 B. 32 

C. 33 D. 34 

Q44. �0म⹍0�ल�?? ?/I�1# /े䜂 X �? /?0 �0�?ले䜂: 

 
 

A. 31 B. 32 

C. 33 D. 34 

 

Q45. Raj (R), Sahil (S) and Vinay (V) stand for a group photograph. Find the sample space. 
 

A. {RSV, SRV, SVR, VRS, VSR, RVS} B. {RSV, SRV, VRS, VSR, RVS} 

C. {SVR, VRS, VSR, RVS} D. {SVR, VRS, VSR} 

Q45. 1?� (R), ??�9ल (S) �1 �=00 (V) �� ्䵇J+ ,K�K �??�=?0O �O  �ल� ?=O 9K?O 9ै䠂। 9ै䠂। ��?.>त-?/�्䵖 �? +?? ल�?��। 
 

A. {RSV, SRV, SVR, VRS, VSR, RVS} B. {RSV, SRV, VRS, VSR, RVS} 

C. {SVR, VRS, VSR, RVS} D. {SVR, VRS, VSR} 

 

Q46. The total of 5% of 15 and 4% of 20 is _____% of 80. 
 

A. 0.6754 B. 2.4532 

C. 3.8765 D. 1.9375 

Q46. 15 �O  5% �1 20 �O  4% �? �J ल 0K� 80 �? _____% 9K�?। 
 

A. 0.6754 B. 2.4532 

C. 3.8765 D. 1.9375 

 

Q47. Manoj wants to buy a laptop costing Rs.43500. The shopkeeper sells it to him at 8% 
discount. How much did Manoj pay for the laptop? 

 

A. 39675 B. 40020 

C. 41320 D. 38545 
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Q47. /0K� 43500 y+0O �ी ल?�? =?ल? �� लP+�Q+ ?1I.0? �?9?? 9P। .J�?0.?1 �?O 09 लP+�Q+ 8% �K � +1 -O� .O?? 9P। /0K� 0O 
लP+�Q+ �O  �ल� ��?0? .J�??0 ��0?? 

 

A. 39675 B. 40020 

C. 41320 D. 38545 

 

Q48. Amplitude and ________ are two important properties of sound. 
 

A. Heat B. Acceleration 

C. Pressure D. Frequency 

Q48. �0?/ �1 ________ o=�0 �O  .K /9त⑍=+K#त �J# 9ै䠂। 
 

A. �.ी B. त⑍=0+ 

C. ???= D. �=+ृ्䵈 

 

Q49. Which one of these is not an example of electricity producing cells? 
 

A. Daniell cell B. Dry cell 

C. Mercury cell D. Galileo cell 

Q49. �0/े䜂 ?O �L0, �-�लI +P.? �10O =?लO ?Oल �? �.?91# 09ी䀂 9P? 
 

A. )P-0/ल  Oल B. ्䵑?�  Oल 

C. .ሴ㒚/ूI0I  Oल D. �Pसलसल/K  Oल 

 

Q50. The organ in human body that produces urine is ________. 
 

A. Heart B. Intestine 

C. Pancreas D. Kidneys 

Q50. /?0= >1I1 /े䜂 �L0 ?? 
?� /K} �त⑍+m0 �1?? 9P? 
 

A. /?ल B. �?, 

C. 
गᝍm/?>/ D. �I?े 
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Q51. Which of the following statements is true about C.I engines? 
 

A. It uses heat of compressed air for ignition B. It has high thermal efficiency 

C. It has less weight in comparison to S.I engine D. It operates on constant volume cycle 

Q51. C.I. �?�0 �O  -?1O /े䜂 �0म⹍0 /े䜂 ?O �L0?? �-0 ?9I 9P ? 
 

A. /9 जᱍ=ल0 �O  सल�  ?+I)), 9=? �I ��.? �? �/,O.?ल 

�0,? 9P | 
B. � �I �चᩍ� ��.I/ ?�,? 9K,I 9P | 

C. S.I. �?�0  O ,Iल0? .े䜂 � �? -?0 �. 9K,? 9P | D. /9 }/-0 �/,0 �्䵅 +0 �?. �0,? 9P | 
 

Q52. Cylindrical chambers are a type of direct injection combustion chambers found in the C.I 
engines. In the cylindrical chambers, the valve is masked to produce swirl. What is the 
degree of circumference up to which the valve is masked? 

 

A. 210 B. 120 

C. 180 D. 150 

Q52. -Oल0?�?1 �� �� ��?1 �O  �त⑍0� 
??��O+# .90 �� 9ै䠂 �K C.I. �?�0K /े䜂 +?� �??O 9ै䠂। -Oल0?�?1 ��K  J/?= �त⑍+m0 �10O �O  �ल� 
=?ल㉍= �K �चᩍ�?�.? ��0? �??? 9P | +र1�/ �ी ��? �!्䵇I ?� =?ल㉍= �K �चᩍ�?�.? ��0? �? ?? 9P ? 

 

A. 210 B. 120 

C. 180 D. 150 

 

Q53. There are primarily four types of combustion chambers in spark ignition (S.I) engines. 
Which of these combustion chambers has both the inlet valve and the exhaust valve 
located in the cylinder head? 

 

A. T-head combustion chamber B. F-head combustion chamber 

C. L-head combustion chamber D. I-head combustion chamber 

Q53. },J �ल?� �जᱍ=ल0 �?�0K /े䜂 �?1 ?19 �O  .90 �� 9K?O 9P | �0/े䜂 ?O ��? .90 �� /े䜂 �0लO� =?ल㉍= = �_�Q}� =?ल㉍= .K0K �?ले䜂!1 9O! /े䜂 
�}-? 9K?O 9P ? 

 

A. T-9O) ?90 �� B. F-9O) ?90 �� 

C. L-9O) ?90 �� D. I-9O) ?90 �� 
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Q54. Which of the following is NOT an advantage of Wankel engine? 
 

A. It is smaller than the piston engines. B. It has a very small number of moving parts. 

C. It can reach higher revolutions per minutes 

than the piston engine. 

D. It has faster combustion rate than the piston 

engine. 

Q54. �0म⹍0 /े䜂 ?O �L0 =?m�O ल �?�0 �ी �=>O??? नही䀂 9P ? 
 

A. /9 ++/�0 �?�0ो䬂  O �K�? 9K,? 9P | B. � .े䜂 �सल, +I�े �?,I �. 9K,O 9P | 

C. /9 ++/�0 �?�0 �I ,Iल0? .े䜂 �-, स.0� �चᩍ� ्䵅??-,/ो䬂 ,� 

+9I?�  �,? 9P| 
D. � �I �जᱍ=ल0 ?0 ++/�0 �?�0 �O  .I�??लO जᱍ/??? 9K,I 9P | 

 

Q55. Which of the following engines is the source of power for jets? 
 

A. Steam turbine engine B. Water turbine engine 

C. Gas Turbine Engine D. Wind turbine engine 

Q55. �0म⹍0 /े䜂 ?O �L0?? �?�0 �O� �=/?0K �O  �ल� >�ि �? ्䵨K? 9K?? 9P ? 
 

A. /�I. �0??�0 �?�0 B. =?�0 �0??�0 �?�0 

C. �P  �0??�0 �?�0 D. +=?) �0??�0 �?�0 

 

Q56. Modifications in designs of SI engines can be carried out to regulate pollution. One such 
modulation that can reduce noise and exhaust pressure of the gasses before releasing them 
in the environment is called 

 

A. Muffler B. Lean idle mixture 

C. Narrow venturimeter D. Catalytic Convertor 

Q56. SI �?�0 �O  �!=?�0 /े䜂 �.J?# �K �=�00�/? �10O �O  �ल� ??>K/0 ��0O �? ?�?O 9P | �?? 9I �� ??>K/0 ��?/े䜂 �P?K �O  >K1 = 

�0=?त? .-?= �K =???=1# /े䜂 �K=0O ?O +9लO �/ �1 ?�O  �?O _______ �9? �??? 9P | 
 

A. .,ल0 B. लI0 ��)ल स.्䵦+ 

C.  ?�0? =े䜂चᩍ/I90.I�0 D. �त⑍�O0+?त⑍.� +90=,I� 
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Q57. What is a blowby? 
 

A. The gasses and oil mist accumulated in the 

crankcase of a combustion engine. 

B. A storage tank for diesel. 

C. A high pressure pump that supplies fuel to the 

injectors according to the firing order of the 

engine. 

D. The earliest form of fuel supply mechanism for 

modern automobiles. 

Q57. mलK-I }0? 9K?? 9P ? 
 

A. ?90 �?�0 �O  
0?ल �K�? .े䜂 �.I 9I� �P े䜂 = ,PलI/ /I?/ । B. )I�ल �O  सल/O ��  ?्䵇9+ �ै䠂� । 

C. �� �चᩍ� ???= =?ल? +?+ �K �?�0 �O  ,?/90?� ्䵅. �O  

0I ?0 
?,ः�O+ो䬂 �K ࠂई/0 +9I?�?,? 9P | 

D. �/I-0� ��K.K??�ल㉍  �O  सल� �?0?स-� | ई/0 �+-ू,I ,?्䵔ࠂ 

 

Q58. What is a dynamo? 
 

A. A device that produces direct current electric 

power using electromagnetism. 

B. An alternator that produces AC power using 

electromagnetism. 

C. A set of connected cells. D. A mechanical device that uses suction or 

pressure to raise or move liquids or compressed 

gases. 

Q58. !?�0O/K }0? 9K?? 9P ? 
 

A. �� � ? �+�0+ �K +=द♍/I,�Iम⹍?�त⑍= �O  �/,O.?ल  O 
)?/0Oሴ㒚� �0?� �त⑍+m0 �0,? 9P | 

B. �� �=-,I्䵔 �K +=द♍/I,�Iम⹍?�त⑍= �I .??  O AC >}ሴ㒚, 

�त⑍+m0 �0,? 9P | 

C.  ?/K}�,  Oलो䬂 �? ��  .ू9 । D. �� /??-्䵔� �+�0+ �K �I ?= /? ???= �I .??  O ्䵖}/ो䬂 /? 
 ?+I)), �P ो䬂 �K /-?0??,90, �0,? 9P | 

 

Q59. Which of the following is NOT a part of a typical anti-lock breaking system? 
 

A. Central electronic control unit B. Four wheel speed sensors 

C. At least two hydraulic valves D. Auto steering control system 

Q59. �0म⹍0 ?O �L0 �z+I �?�I-लQ� }O��? � �#?लI �? 
?� 09ी䀂 9P ? 
 

A.  Omरल �लO}ሴ㒚र� �? रKल /-ू0� B. �?0 +/9/O �O  �-,  ?=O?� 

C. �.  O �. ?K 9?�्䵑Kसल� =?ल㉍= D. ��K /�I/90?� �? रKल स /�. 
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Q60. At which stage of vapor compression cycle, the temperature and pressure of the refrigerant 
is increased? 

 

A. Throttling and Expansion B. Condensation 

C. Compression D. Evaporation 

Q60. =?�+ ??+I=0 �ि �O  ��? �1# +1 �>I?� �? ??+/?0 = .-?= -? �??? 9P ? 
 

A. त⑍=90्䵔+ = � 0+ B.  ?�O++ 

C.  ?+Iड0 D. =?�+I�0+ 

 

Q61. Centrifugal force is exerted during the cornering of a vehicle. What bears that force? 
 

A. Steering B. Front axle 

C. Chassis D. Wheels 

Q61. =?90 �K /K=?O ?/0 
+�े䜂 �I -ल ल�?? 9P | �0म⹍0 /े䜂 ?O �L0 �? -ल �K ?90 �1?? 9P ? 
 

A. /�I/90?� B. �? � �ሴ㒚 ल 

C. �Oस   D. +/9/O 
 

Q62. A chassis layout includes various components of an automobile. Which of the following is 
NOT a part of chassis layout? 

 

A. Petrol tank B. Gear box 

C. Brakes D. Clutch 

Q62. �O�?? �? 
�.�=m0?? ��K/K-?�ल �O  �=�.m0 
?>K �K >?�/ल �1?? 9P | �0म⹍0 /े䜂 ?O �L0 �O�?? �=m0?? �? 
?� 09ी䀂 9P ? 
 

A. +OरKल �ै䠂� B. ��/0 ?Iሴ㒚  

C. }O� D. ሴ㒚ल� 

 

Q63. What is a clutch? 
 

A. A component for controlling the speed of a 

motor vehicle engine 

B. A components that contains gearing 

arrangement for different speeds 

C. A component that provides directional stability 

to automobiles 

D. A component that connects the engine and 

gear box 
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Q63. }ल� }0? 9K?? 9P ? 
 

A. .K�0 =?90 �O  �?�0 �I �-, �K -0/?-्䵔, �00O =?ल? �� 

 �� 

B. =9  �� }� .O +=स-m0 �-,/ो䬂 �O  सल� �O/90?� ्䵅. 9K,? 9P 

C. =9  �� �K ��K.K??�ल㉍  �K /?>?त⑍.� }/-0,? �??0 

�0,? 9P 
D. =9  �� �K �?�0 = ��/0 ?Iሴ㒚  �K �KडO 0�,? 9P 

 

Q64. Which of the following is NOT a part of automatic transmission? 
 

A. Clutch Slips B. Epicyclic gear arrangement 

C. Torque Convertor D. Fluid Coupling 

Q64. �0म⹍0 /े䜂 ?O �L0 }=�?�ल? ??�1# �? 
?� 09ी䀂 9P ? 
 

A. ሴ㒚ल� }/ल+  B. �++ ?�}ሴ㒚ल� ��/0 ्䵅. 

C. �I�I  +90=,I� D. oल�ू) �+सल?� 

 

Q65. The final drive turns the drive of the propeller shaft to a certain angle to drive the wheels. 
What is the degree of that angle? 

 

A. 45 B. 180 

C. 90 D. 60 

Q65. 
?�?/ ्䵑?�= �K+Oल1 >?फ़幍� �ी ्䵑?�= �K �� �0�ि? �K# +1 /K= .O?I 9P | �? �K# �? /?0 }0? 9K�? ? 
 

A. 45 B. 180 

C. 90 D. 60 

 

Q66. What is the purpose of using radius rods in torque tube drive? 
 

A. To support the propeller shaft B. To take the torque reaction 

C. To assist the torque tube to take the twist and 

thrust of the vehicle drive 

D. To transmit the thrust from the axle to the 

frame 
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Q66. �Q�त  �M0K- ्䵑?�= /े䜂 }0?? �= �}?O/?ल �10O �? �oO�0 }0? 9K?? 9P ? 
 

A. �K+Oल0 >?फ़幍� �K  9?0? ?O0? B. �I�I  ��्䵅/? �K  .?/9, �00? 

C. }9I�ल ्䵑?�= �O  .Kड = �+K? �K  .?/9, �00O .े䜂 �I�I  टὍ/?ू 
�I  9?/,? �00? 

D. �ሴ㒚 ल  O �O . .े䜂 �+K? �K  ?�?90, �00? 

 

Q67. Which of the following statements is true about radial ply tyre? 
 

A. It is called conventional tyre. B. Its sidewalls are stiff. 

C. It runs cooler than the cross ply tyres. D. It has high rolling resistance. 

Q67. 1O�!0ल +ल?� �?01 �O  -?1O /े䜂 �0म⹍0 /े䜂 ?O �L0?? �-0 ?9I 9P ? 
 

A. � O +?0म⹍+90� �?/0 �9? �?,? 9P | B. � �I +?�=I-स-+्䵈/?? �?K0 9K,I 9P | 

C. ्䵅I  +ल?� �?/0 �I ,Iल0? .े䜂 /9 >I,ल� �ल,? 9P | D. � �? 0Kसल?� �-,0K/ �चᩍ�/,0I/ 9K,? 9P | 
 

Q68. What is the angle between the wheel inclination and the path taken by the wheel called? 
 

A. Caster angle B. Slip angle 

C. Camber angle D. King pin inclination angle 

Q68. +�90O �O  िJ�?= = +�90O �O  ??1? �ल� �� /?�त �O  -I� -00O =?लO �K# �K }0? �9?O 9P ? 
 

A. �I/�0 �K+ B. }/ल+ �K+ 

C. �O म⹍?0 �K+ D. ��? � ++0 �I�?= �K+ 

 

Q69. Which of the following is a component of drum brakes? 
 

A. Caliper B. Brake shoe 

C. Actuating piston with friction pad D. Revolving disc 

Q69. �0म⹍0 /े䜂 ?O �L0 ्䵑/ }O}? �? 
?> 09ी䀂 9P ? 
 

A. �P सल+0 B. }O� >ू 

C.  ?I+ +P) =?ल? 
ሴ㒚�ू/O/�m� D. 90=I}ल㉍=?�))/� 
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Q70. Exhauster, main cylinder, brake lines and disc rotor are the main components of which 
type of brakes? 

 

A. Hydraulic brakes B. Vacuum brakes 

C. Mechanical brakes D. Air brakes 

Q70. �_=Q}�, /J_0 �?ले䜂!1, }O� ल?�0े䜂 = �!}� 1K�1 ��? ��?1 �O  }O�K �O  /J_0  �� 9K?O 9P ? 
 

A. ्䵖= �सल, }Oሴ㒚  B. >mू/� }O� 

C. /??-्䵔� }O� D. 9=?� }O� 

 

Q71. Which of the following is a type of semi-independent suspension system? 
 

A. Double wishbones B. MacPherson Strut 

C. Twist Beam D. Solid axle 

Q71. �0म⹍0 /े䜂 ?O �L0 
�त-}=??} ?}+े䜂>0 �#?लI �? �� ��?1 9K?? 9P ? 
 

A. )?ल +=>?Km  B. .P�,O 0 0 /र� 

C. टὍ+=/� ?I. D.  Iसल) �ሴ㒚 ल 

 

Q72. Which of the following is true about leaf springs? 
 

A. Their end is kept flat. B. Leaf springs are preferably used in combination 

with independent suspension system. 

C. In leaf springs, several strips are placed one on 

the other and held together. 

D. In leaf springs, each succeeding leaf is longer 

than the previous one. 

Q72. लI, �}�?�K �O  -?1O /े䜂 �0म⹍0 /े䜂 ?O �L0?? �-0 ?9I 9P ? 
 

A. �0�O  स 0O  .,ल 0�O �?,O 9P | B. लI, }/�?� �? +=>O? ,L0 +0 �/,O.?ल /=,?्䵔  /+े䜂>0 

�+?लI �O  .Oल �O   ?- ��/? �?,? 9P | 

C. लI, }/�?� .े䜂 �� +टὍ/�/ो䬂 �K �� �O  �+0 �� 0�? �?,? 9P 
= �m9े䜂 ��  ?- �Kड �0 0�? �?,? 9P | 

D. लI, }/�?� .े䜂 �त⑍/O� �्䵈0�?.I लI, +9लO =?लI  O ?डI 9K,I 
9P | 
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Q73. In case of gradually applied load on a body. What will be the shape of the stress-strain 
curve? 

 

A. Triangle B. Rectangle 

C. Square D. Parallelogram 

Q73. ��?I �0�?0 +1 /I1O-/I1O ल�0O =?लO .?1 �ी 
=}-? /े䜂 ?0?=-�??�?= =ि �ी ��L �? �P ?I 9K�I ? 
 

A. -्䵔�K+I/ B. �/,?�?0 

C. =�?I�?0 D.  .?0??,0 �,I-II�I/ 

 

Q74. Which type of beam consists of a numerous reaction forces and point loads? 
 

A. Overhanging Beam B. Built-In-Beam 

C. Cantilever Beam D. Continuous Beam 

Q74. �L0?O ��?1 �ी -I/ +1 -9ु??0? /े䜂 ��?�ि0? -ल = �-?.J .?1 9K?O 9P ? 
 

A. �=09ै䠂��?� ?I. B. -?ल㉍�-�0 ?I. 

C. �े䜂 /�लI=0 ?I. D. 
0=0, ?I. 

 

Q75. Which part of Babcock and Wilcox Boiler is used to deflect the hot flue gases? 
 

A. Grate B. Furnace 

C. Baffles D. Super Heater 

Q75. -P-�Q� �1 �=ल�Q}? =?�+� /े䜂 �L0?? .?� �1/ oलK �P?K �K �=�O�+? �10O �O  �ल� �0K� ��0? �??? 9P ? 
 

A. �?लI B. -टὍ?I 

C. }/?0K/ D.  I+0 9I�0 
 

Q76. If pressure is measured relative to atmospheric pressure as a base, it is called________ 
pressure. 

 

A. Atmospheric B. Absolute 

C. Gauge D. Vacuum 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 83, Mechanic Diesel Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Afternoon Session 
 

December 12, 2019  Page 24 of 28 

 

Q76. 0�. .-?= �K =?0J/?!लI0 .-?= �K ??+O� /?+? �??? 9P, ?K �?O__________ .-?= �9?O 9P | 
 

A. =?/I.?)लI/ B. +0. 

C. �O� D. -0=?I, 

 

Q77. Which type of crystal structure has a coordination number of eight and contains 2 atoms 
per unit cell? 

 

A. Body-centered cubic (bcc) B. Face-centered cubic (fcc) 

C. Hexagonal closest packed (hcp) D. Simple cubic 

Q77. ��? ��?1 �ी �ि}�ल ??1�0? �ी ?/m=0 ??_0? �  9K?I 9P = ��? ?Oल ��?� �?/े䜂 2 +1/?#J 9K?O 9P ? 
 

A. >0I0 �े䜂 /्䵖,  0 B. .I� �े䜂 /्䵖,  0 

C. 9Oሴ㒚 ?�K0ल ሴ㒚लK O/� +Pሴ㒚) D.  ?.?m/  0 

 

Q78. When the particles of the bar or disc move approximately perpendicular to the axis of the 
bar, then the vibrations are known as__________ vibrations. 

 

A. Transverse B. Longitudinal 

C. Torsional D. Hydraulic 

Q78. �- -?1 0? �!}� �O  �#, -?1 �O  
� �O  ल�.� ल?-=? �ल?O 9ै䠂, ?K �0 �? +0K �K________ �? +0 �9?O 9P | 
 

A. 
0I�/- B. 
0I?Po/I 

C. �I0>0ल D. �लI/ 

 

Q79. Laminar flow occurs when the calculated Reynolds number is ____________. 
 

A. less than 2300 B. less than 4200 

C. less than 3000 D. less than 5600 

Q79. �- 1O0Qल㉍!M? 0?-1 ______ 9K?? 9P ?- +#त.लI0(ल?�/0?1) �=?9 �त⑍+m0 9K?O 9P | 
 

A. 2300  O �. B. 4200  O �. 

C. 3000  O �. D. 5600  O �. 
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Q80. In Impulse turbine the water flows in_________ direction to the turbine wheel. 
 

A. tangential B. axial 

C. radial D. centrifugal 

Q80. �=O�I �1-?�0 /े䜂 +?0I �? -9?= �1-?�0 �ि �ी ________ �.>? /े䜂 9K?? 9P | 
 

A. /+>I-0O�I/ B. 
�I/ 

C. 
0I/ D. 
+�े䜂 ्䵖I 
 

Q81. Which type of lubricant will you use when you want to seal out contaminants such as 
water or dust? 

 

A. Dry Lubricants B. Penetrating Lubricants 

C. Grease D. Oil 

Q81. �- �+�K +?0I 0? /Kल �P?O .K�?? +.?-K ?O -�?0? 9K?? 9P ?- �+ ��? ��?1 �O  }0O9� �? �}?O/?ल �1?O 9P? 
 

A. >I�� /0O9� B. -O?� /0O9� 

C. ्䵇Iज़ D. ,Oल 

 

Q82. Using a heating blanket to get warm is which form of heat transfer? 
 

A. Convection B. Conduction 

C. Evaporation D. Radiation 

Q82. ��/I0 �म⹍-ल �O  �}?O/?ल ?O �1/ �10? ��/? }-?0???1# �? �L0?? z+ 9K?? 9P ? 
 

A.  ?=90 B.  ?=?90 

C. =?�+I�0+ D. +=��0+ 

 

Q83. Cast iron which have equal amount of free carbon and carbide are known as 
_____________. 

 

A. Alloy Cast Iron B. Mottled Cast Iron 

C. Nodular Cast Iron D. Malleable Cast Iron 
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Q83. =9 �?}� �010 ��?/O �ी �?-त0 = �?-?त�! -1?-1 /?}? /े䜂 9K?O 9P, �?O ___________ �9?O 9P | 
 

A. स.्䵦/?,I �?/� �/00 B. �I?�O??0 �?/� �/00 

C. �?????0 �?/� �/00 D. 0म⹍/ �?/� �/00 

 

Q84. Which amongst the following correctly represents parallel axis theorem? 
 

A. I = ICM+M2h B. I = ICM+M2h2 

C. I = ICM+Mh D. I = ICM+Mh2 

Q84. �0म⹍0 /े䜂 ?O �L0 ?/?0???1 
� �/O0 �? ?9I ?O oK�?? �1?? 9P ? 
 

A. I = ICM+M2h B. I = ICM+M2h2 

C. I = ICM+Mh D. I = ICM+Mh2 

 

Q85. What is the unit of section modulus? 
 

A. mm3 B. cm3 

C. m3 D. km3 

Q85. 
0J.?�I0 /?+??� �ी ��?� }0? 9K?I 9P ? 
 

A. mm3 B. cm3 

C. m3 D. km3 

 

Q86. Which amongst the following correctly represents Strain energy in the body? 
 

A.  B.  

C.  D.  
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Q86. �0म⹍0�ल�?? /े䜂 ?O �L0 ?? �0�?0 /े䜂 ?0?= ��?त �? ?9I ��?�0�/त⑍= �1?? 9P? 
 

A.  B.  

C.  D.  

 

Q87. The main source of synthetic plastics is _____________. 
 

A. Shellac B. Lubricating Oil 

C. Crude Oil D. Paraffin 

Q87. ??्䵨O�?? +ल?�}�� �? /J_0 ्䵨K? _________ 9K?? 9P | 
 

A. ल?9 B. /0O9� ,Oल 

C. �चᩍ�? ,Oल D. .?ृo ? 
 

Q88. Which refractory material amongst the following cannot be used in contact with oxygen? 
 

A. Aluminium B. Carbon 

C. Silicon D. Magnesium 

Q88. �0म⹍0 .J1?्䵇?9I ??/�्䵇0K /े䜂 ?O ��?O �}?I�0 �O  ??}+>त /े䜂 �}?O/?ल 09ी䀂 ��0? �? ?�?? 9P ? 
 

A. �ल㉍/I.I-0/. B. �??I0 

C. स सल�I0 D. .Pगᝍ0Iस>/. 

 

Q89. Water flow through a river with a constant discharge is an example of _____________. 
 

A. Unsteady and non-uniform flow B. Steady and Non-Uniform Flow 

C. Unsteady and Uniform Flow D. Steady and Uniform Flow 

Q89. �}-1 }?ल0 �O  ??- 0.I �? �ल �=?9 ________ �? �� �.9?1# 9K?? 9P | 
 

A. 
}/-0 = 
 . �=?9 B. }/-0 = 
 . �=?9 

C. 
}/-0 =  . �=?9 D. }/-0 =  . �=?9 
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Q90. Which type of gear is shown in the figure? 

 
 

A. Bevel Gear B. Herringbone Gear 

C. Helical Gear D. Spur Gear 

Q90. .I �0I ��L �? /े䜂 ��? ��?1 �? ��01 .>?त0? �0? 9P ? 

 
 

A. ?O=ल ��/0 B. 9O90Im�?K0 ��/0 

C. 9Oसल�ल ��/0 D. /+0 ��/0 
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